DIVIDING A LINE SEGMENT
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DIVISION OF A LINE SEGMENT

If P1(x;) and P2(x;) are the endpoints of a line
segment; and P(x) is any point on the line P,P; .
Then, “P” divides the line segment in two parts
PP and PP, ,with the same direction given a

Jratio “r”.
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The ratio is defined as:
PP -
r=—— V r=PP:PP,
PP,
Hence:
_ X=X . _xp T,
r_xz—x if x, #x e ifr+-1

KNOWLEDGE FOR THE WORLD

=——1 TEXAN
@ GLOBAL SCHOOL

Global Online Learning

[EXAMPLE: What is the coordinate of the division
point of the segment defined by the endpoints
Pl(-l), Pz(z) given theratio ,, _ P« _1 ?
PP, 2
SOLUTION: 1) Plotting:
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P) Using the formula to 4) Isolating "x":
calculate the point that | 3) Substituting: " (1) @ )
divides a segment i+ |*= —21 x=3
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